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Paper Two ( 18 Marks ) 

I- Composition (6Marks ) 

A ) Answer the following questions to form a paragraph about:  

" Going to the restaurant " 

1- Where do you go when you are hungry? 

2- Who helps you at the restaurant? 

3- What does the waiter give you first? 

4- Why does he give you the menu? 

5- What do you usually eat at the restaurant? 

"Going to the restaurant" 
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-G. 6  Paper Two  ( A ) 

II) Reading Comprehension (6 Marks) 

 

* Read the following passage, then answer the questions below: 

 

 A poor man, who couldn’t read or write, asked for work as a doorkeeper of a hotel. 

The owner of the hotel said: “I’m sorry, you can’t work here because you can’t read or 

write.” The poor man was sad. He began to go from house to house selling knives and 

brushes. After two years, he had enough money to open a shop. He worked hard and the 

shop grew bigger. 

After ten years, the man owned ten shops and became very rich. In the town where 

he lived, he built a hospital and a doctor asked him to write his name in the visitor’s book. 

“ I’ve never been to school ”, the man said. “ I can’t even write my name.”  “ What!” the 

doctor cried, “Can’t you write at all? If you learned to write when you were young, you 

would be a great man now.” “I don’t think so.” The man said. “ I should be only a 

doorkeeper.”   

 

A)  Choose the right word from a , b or  c : ( 4 x 1/2 = 2m )             

1. The man became very rich because he …………………… . 

a) worked in a hospital            b) worked hard          c) was a door keeper 

2.  The man couldn’t write or read because he had never……………………..    . 

a) been to school               b) been to a hotel              c) been to a shop 

3. The man was selling …………………………  .  

a) knives and watches       b)  scarves and brushes    c) knives and brushes 

4- After…………..of hard work, the poor man owned ten shops and became very rich.       

a) five years                b) twenty years                   c) ten years 

 

B )  Tick  ( √ )  or cross ( x ) :  ( 2x1=2m )                                                                                 

5.  The poor man wanted to be a doctor.    ( ) 

6.  The man built a hospital in his town.    ( ) 
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C ) Answer the following questions : ( 2x1=2m )                               

7.  How could the man become very rich?                                                                 

……………………………………………………………………………………………… 

8.  Why  couldn’t  he  get  work  at  the  hotel ? 

……………………………………………………………………………………………… 

 
-G. 6  Paper Two  ( A ) 

III) Spelling (3Marks) 

M. )12=1/×2( : A ) Fill in the missing letters 

9 -  We don't need gog – les to play  – olleyball.  

a) ..............................................  b)....................................................... 

 

M. ) 1= /2( 2 ×1 B) Write the long / short forms: 

10 –      wasn't       = ……………………..…………. 

 

11 –     TV            = ……………………………….…. 

 

 ) Combine the following: ( 2 ×1/2 = 1 M. ) C 

12 - faithful  + ly    =  …………………….………   . 

 

13 – marry   + ed    = …………………………………  . 
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) Marks3 ( Punctuation &Handwriting  IV)  

 

M)1(cursive handwriting  :  ( A) Copy the following in a good , 

 

14 – A secret between more than two is no secret.  

 
 

 ــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــ     

 ـــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــ

  

 

M)2=/2(4x1e the following: (B)  Punctuat 

 

15-   let s buy a present for hamad  

    ………………………………………………………………………. 

 

 

 

 

 

 

 

 Good Luck  


